ERIRE (FF15 FE)

(1) EEHIAL - FE

R SF0 5 4ESE S0 4 4ESE S0 3 4ESE
X5y NN | BIE (%) | AR |EE (%) | AN |#E (%)
A 124 44.3 119 43.9 134 49.8
4 IR /A 16 5.7 14 5.2 15 5.6
7TV 85 30.4 93 34.3 73 27.1
FER » R - BRI 1 0.4 0 0.0 4 1.5
o W 0 0.0 0.0 0 0.0
Z0fh 54 19.3 45 16.6 43 16.0
& & 280 100.0 271 100.0 269 100.0
(2) EEEAEEL *ERREOSH, () NITBEGEER CXEN
FIE| s | afmatms | o3 IR ofsas | eRdmE | o3
KB4 (BIEHEEAR) | (BMSEEAR) [ (BMAFEAR) | fozag, (BR6EEAR) | (BFSHEEAR) | (FFn44EEAR)
JeitiE R 6 ( 6 ) 7 4 8 ¢ 5 | HIIFEEK 16 ¢ 10 ) 13 ¢ 11 13 ¢ 11
B P 22 19 ,| 26 24 ,| 22 ( 22 ) FEbE 10 9 T 07 6 6 )
ERL N 3¢ 3 ) 6 ( 5 8¢ 8 JEE K 9 ( 8 6 6 ) 6 3 )
R R 24 ( 20 18 « 16 | 25 ¢ 21 | BEHERBK 24 ¢ 16 ,| 20 (¢ 18 ,| 20 ( 13 )
THR 12 ¢ 12 ) 9 9 8 « 7 | HEBEAEEK 0¢ 0 0¢ 0 ) 1¢ 0
HR 8 ( 6 8 « 7 ,| 11 5 , PPN 19 ¢ 18 ,| 24 (¢ 24 ,| 21 (¢ 19
WO ERE 1 ¢ 1) 1 ¢ 1, 1 ¢ 1 | ZHWHIEKR 54 ( 53 ,| 54 ( 48 ,| 59 ( 45
B TER 3¢ 2 2 2, « 2 ERAK 6 4 19 ( 16 ) 7T 4 )
—f&ER 2 ¢ 2 5¢ 5 2 2 EXEPN 15 ( 14 ) 33 ( 31, 16 ¢ 16 )
ER N 15 ¢ 156 5| 12 ¢ 12 ,| 19 ¢ 17 , PN 42 ( 34 | 59 47 H| 31 ¢ 19,
EPRK 11 ¢ 10 ) 11 ¢ 10 ) 5« 4 | HEREK 12 ¢ 12 11 ¢ 11 14 ( 14
EAYEWN 0o¢ 0 ) 1 ¢ 1) 3¢ 2 HREER K 3¢ 38 2 2 1 ¢ 1)
JrEPN 2 ¢ 1 3¢ 2 4 ¢ 4 | HFEEBK 61 ( 56 ,| 57 ¢ 39 ,| 63 ( 56 )
N TN 5 ( 4 2 2, 4 ¢ 4 R 53 « 49 ,| 45 ( 45 ,| 56 ( 45
EiEN 2 2 ) 0¢ 0 4 ¢ 3, AAK 30 « 28 | 26 ¢ 23 ,| 33 ( 24,
JUMIK 1¢ 1) 0¢ 0 ) 0¢ 0 (ESE@N 39 ( 37 ,| B3¢ 51 ,| 48 ( 36 )
Z oA 45 ( 39 ,| 40 ¢ 30 ,| 42 ( 35 ) HEREVN 59 « 49 ,| 66 « 56 ,| 76 ( 61 )
EN&NY 162 ( 143 )| 151 ( 130 )| 168 ( 142 )| WHIEZEBIK 5 5 3¢ 38 7¢ 6 )
RIS TR 1¢ 1, 1 ¢ 1, 1¢ 1, STHOR 21 « 19 | 26 ( 25 ,| 21 ( 14 ,
[L32vF FER N 0c 0 ) 0 0 1¢ 1, FLRG K 33 ( 28 | 36 ( 32 ,| 38 ( 32,
IS 5 37- PN 15 ( 14 9 ( 9 12 ¢ 10 ) RS HR 3¢ 9 1¢ 1 4 4
L 9aE AN 3¢ 3 1¢ 1) 2 2 DATHEPN 24 ( 22 ) 17 ¢ 15 ,| 28 ( 25
Z DAty 9 6 ,| 14 ( 12, 7007, Z DAt 174 ( 167 ,| 185 ( 168 ,| 190 ( 163 )
INNTRFEE 28 24 ,| 25 ¢ 23 ,| 23 ¢ 21, FLSEKFE 722 ( 650 ,| 763 ( 679 ,| 759 ( 617 )
(3) BIOHTE L BifkiEE%
ST B AR T4 AFn 34
B O 92.1% 91.4% 94.3%
B 81.0% 84.0% 84.2%
*  BIGHE=EOHEEREFHFEEHX100
Bk s = FE PR PR EERX 100




